—~ —

Using xzr.(—g) = 2 (A) - 8n(®) ad

!
. (
Qfl CA g) = 2«\(“)4 Q/\[é) we L\G-JC l( { /
Qn @) = Qa (2:"—1() + £a Cez’lz) ‘( lt ,
- QaC?z—r() (-. { - // .
= Qﬁczla—,,( +dxt - Q. (211() } { //
Now “usin A Qn(u) = _é_ Qn[“] d(( | /
> o] " [ ] du[: ] . s //
- Vo du 7
- U dx we haove
L ‘_’{__ = ! 2-2z40) 4+ - -2x - .(2+0
9 dx 2x2e1 C - ) 2x+ 1 (+ )
= E\.x: = 27‘::‘ + x -214_‘ Y . Now set x=1 > Y \]—
and m <= ..di = ( o 2 )J—é - 5 \ré
dx 5 =4 21 -+ 1

D 4x> + i@t‘)g’«- xzi@ﬁ—ric_ﬁ):o

(’k) > 47( 4—223 “+ x 23‘*‘.9 “+ 5-:.1"&9 =0

dx dax

> 2 - 2 2] - 2 2[5 2]
*dslzo

+ 5 <
olx dx

= 4-31:2‘1- 2% 3 + x "('a }-0' 2{22 y.ds xz"[s)""‘-'—znj (""

‘ + sg @n)dg - 34& d(
D 12 2 2y d } + 2 d ( __'f
@() > xZ + §3+x 39 gzm_, 94—: +13dﬁ-
| + 5{"3";‘;:‘; -yt Ly

NO«U (“’t_ 2 =~ | a~d 94 = -\ Py (-*) ad Ci&) + obtain



4D ¢ 260E) « E)M2E) m + 5E)Tm = O and

# ,,'2(0 4—2%‘(0 4[()2(!)«,} + 2%2(—4)[()"\ +(()m+(\)[()a}
, o+ HEOS +[‘)“ot}

e =4 -2 =2m +5Bm =0  aad
; 12 +2<|+2m>+2<2m+m2—u>+5(""n + o O
L= m = —;—: 2 and x:—glem - 8m - lq} 4
3@)_{% Wilh w = 3a5x + A2 4 e-zfc+?x we haw
éi = 0+ 68+ W - ezz+3x sz_* 3:]
K i sasmea(esyel
A on using The cliata rv\‘e (wk«.k grelds ——f_e ]‘ w%—:'— .
L Now, again winey T chainrale, we have 4= ) D

dy = dfepd s = U oda ,,,=> m = d%\
dx oln dx dx |lx =0
. | 4

PSP —— (5+80+2(—r31>>e>
;_:_ (642.)

C’o) = LA ng —f‘(-z—c 5) ]—f‘ Smh (u.)

F |
Qo
;|
——
N
]
c

]

\

= _2— Qn(gzw +‘+z—r6) A 75(4‘\—'&) 7 with u= Fx
Se % = .é‘- 312‘*‘““5 dl;'sx +4x+5¢ | + 2 sk &) ™
= t Cx +4 0 + ! F
[ “ 72. | TIx* L A+S - “z_* v
H = Zx + 2 * >
CTReamxes et
:.—'—> m = :*‘_o_\ - o+2 «+ * = " 31
dx lx=o o-ro-:é 0+1 =

4 (a)  Flot adde fat ;g_\Equjj - _\__ > “[n,.@c)] @f)

2:*!:



(|| == ;_.=.5 > 0. (2+¢) =

SR I S R S - - “I - ulz,
@ £ =0 D ald)=4 -

5

(o) ||| axeleration = d2x
e

Now wse The apaad-cen'f raule 4o
veloady = dz

= 2{0Gn) 429 @) - (2D20)d ()
dt ~ 2+t =
<— + 7.X2-|t') @"(zﬁ *25@42) |
, G
5 — 2a(2+¢)
CZ-rt)z
5 - -Qa@_..t)
R (2+6D*
= @—51? »21t)7 {‘5 »QACZ-rCl}'ZCZ-»t)Co-H)
(2

 GOfzi m0 22l - zefed-n
C?--rt)““

CZ—«-C)?
‘5 =) t-rl—-e, 7(: 2‘2

N

and

dc?

dt

2 > E+2 = e’ 7‘:’

-2
dE?

Four revs per M = &-2‘!1’ = r mcl/n'.r\

S 48 = in
B

min

A
0
|
Q Q.
rr|?‘
))
N
| I
g
d
~
O
I |
)

3 al fra(6)] 48

- 8w

N

QH_« R —
cos"@)

", 32412 : WO e

)]
o
&
o
]
R
¥
4




